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     Directions: Get your ducks in a row and make sure to





I) List the given information with proper variables.




          II) State the equation(s) that is/are going to be used.




     III) Obey rules for significant figures.



         
IV) Conclude your solution with a meaningful therefore statement.
1.
What mass of silver, in grams, goes from -16℃ to 58℃ when heated by 11.7 kJ of heat? [2]

2.
Find the initial temperature of 0.355 kg of glycerin if it is heated by 600 J of heat to produce a final temperature of 91℃.? [2]

3.
Alex lifts his spare anvil of mass 75 kg from the floor to a height of 1.3 m onto a bench.  

a. [image: image4.wmf]How much gravitational energy does this create for the anvil?

b. If the anvil then falls off the bench what speed will it have when it lands back on the floor?
4.
Horace the duck is taking a bath.  He fills a tub with 45 L of water at 46℃.  This is a little too warm for Horace so he thinks to add some water at 10℃, to bring the temperature of the bath to down to 35℃.  How much water will Horace have to add to the tub?  If the tub will hold 55 L of water will he be able fill the bath without it overflowing? [5]
5.         A
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Mackenzie, Josie and Aly go tobogganing on one of those icy hills; which is so slippery it can be considered to be frictionless.  It is real snow, not the fake stuff. They start from an initial speed of 2.3 m/s at the top of the hill as shown in the diagram.  The toboggan has a mass of 3.0 kg and the three students have a combined mass of 250 kg.  It is a sunny day and the snow has a temperature of -4℃!


Find the speed of the toboggan at:  
a) Point B:    
b) Point C:              [6 marks]

6.
Lawson gets really mad at her iPad (mass 0.9 kg) and throws it with an initial speed of 

12 m/s [up] from an initial height of 1.3 m from the ground.  What is the maximum height of the iPad and with what speed will it hit the ground? [5 marks]

7.
Skye has always wanted to try cliff diving.  So she runs off a cliff with a speed of 4 m/s and dives into the water 10.5 m below. Skye has a mass of 55 kg.

a. What total energy will Skye have at the top of the cliff?

b. What will her speed be as she enters the water below?

c. [image: image10.wmf]What speed will she have at a distance of 6 m above the water?  [6]
8. Jeremy drops a basketball (0.9 kg) from a height of 5 m above the ground.  If the ball loses 25 % of its total energy as it bounces back up, to what maximum height will it rebound? [3]
9.
Find the energy required for Patrycja to vaporize 0.65 kg of gold. [2]

      10.
Calculate the total amount of heat required to raise the temperature of 0.055 g of ice from -16℃ to a vapor at 118℃. [5]
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